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s L. @eLQaefuled yaaflaw aloLew sfurs srgussd = 04+01 yerefsear

u@@ C = 10 yeireflmeir
3 Gry apullenL | Wigmen @HOUHBBTEN LI D
(QFsma) Qau@od) (emum)
52.0-54.9 15 150,000
55.0-56.9 5 120,000
57.0-58.9 5 100,000

5 sfunen e Wgpaismeanuyd GeMmsSTanISGL et eupniEs.
(05 x 3 = 15 yeireaeir)
Y fix; =15 x 150,000+ 5 x 120,000+ 5 x 100,000
2250 000 pooooo Bao 000 sfwren AyHuI®G = 05 yerefseit
= Rs. 3,350,000
Bn# elewL =04+01 yemefsein
UGS D = 25 ysireissit

(51.65.0) (52.95,12) (53.95,40) (54.95,60) (55.95,72) (56.95, 80) (57.95, 88) (58.95,100)
(51.95,0) gy yeitelll DILmEISOTS QP DYsisapsen sfwrulsr 05 yeirefiase

© SmasHg i sflwrullear 10 yemeflaset
u@8 E = 10 yeirefassir

05 yeivefilaseir

56.95 Ba@fw Quproremd = 80

aginmissGn Braed elymsmame = —L X 120 = 96

100
= sfwrer yBHul@ 05 ysirefiseir
Bm# alenL 05 yemefasen

uGd F =15 yerelassir



flenrd Benemdab ylyriiones g

a) i) A: (Trapezoidal) Prism i S | Felasg AP l Oeem&d A A5 marks

@: Cuboid — &~ A- 5 marks
I: Cuboid  ~ Lowmopy A- 5 marks
i) B:Slanted/Obli ue/Non-Rightcubuid{ Frivns Enn Ie‘]ﬂrvﬁﬂ A- 5 marks
) q w24 oS P
iii) A:Trapezium - Haiis A
B: Parallelogram - Se~v=iz30 A- 5 marks
C: Rectangle — Qoo

Total for (a): 25 marks

b) 1cmrepresents 18.5m
Total height=1+12 =13

~» Actual height=13 X 18.5 =g 5 marks
=240.5m A-4+1 marks

Total for (b): 10 marks

y=1cm
x=2cm
Volumeof C=12 X2 x 2 Formula & Sub. —=» M- 5 marks
i/ =48 cm? > A-4+1 marks
R
ii) Volume = Base Area X Height
Volume
- Base Area of D = —
1 D Height
28
S Formula & Sub. —, M- 5 marks
=28 cm? > A- 4+1 marks
iii)
@ Widthof D=2y + x
1 D 2y +x =2(1)+2
= 4w > 5 marks
area
Length of D = T
28
= Formula & Sub. —> M- 5 marks
= 7mUOnt [ 2 —> A- 4+1 marks

Total for (c): 35 marks

Vo Lhugancs chgrpans (L) eagrisasb f115) - 5.60n1 5 (0_uls goy ) Ll awe - 2024 - BOUhb Besdarisnet B_shen Aai's 1_apshene,
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Brinons) Ll cad i
a"‘"___\"""\
T ——— e ——————— P EE—— e SN
d) i) For figuring out the height is 4 cm. SR > 5 marks
@ Volumeof A= Areaof  xlength Formula —=y M- 5 marks
1 cross-section
4 - %[2 +1)4 x 2 Sub. —= M-5 marks
A = 6 X 2
= 12 cm? P A-4+1 marks
2
2
ii) For figuring out the height is 6 cm. &) 5 marks
(>
Area of two parallelograms = (base X height) X 2
6 =(6x2)x2 «=® Formula & Sub. M- 5 marks
i =24 cm?
2
The two Rectangles

Length of a rectangle = V62 + 22 OR v#0 OR ~ 6.324 (2 or 3 decimals] (&) **5 marks
Area of two rectangles = 2V40 x 2

= 4V40 OR =~ 25.298 —@ 5 marks
~Total area = (24 + 4y40) OR 49.298 cm? (2 or 3 decimals) (5) A- 4+1 marks

i) (5
Slant height = V6% + 22
! 6 =40 cm ] 210 ¢z A- 4+1 marks

2 (If the Pythagoras is applied here but not in ii), award that **S

marks here)
A Siinwie Enivive CaNs
iv) tanf =~ = Applying tan 5 marks

=2 D Total for (d): 55 marks

" - Eymbigy U ganca dighenb (sl aapibesb A1 1) - mbung (Ll po Y flaws - 2024 -




) /P iy E
GI h‘"""'-.._‘_.‘ tan30°=-3 A 5 marks
---------- 6
19 4 d S 5 marks
\) =6v3cm(10.39cm)  A- 4+1 marks

V

N
=)

Total for (e): 15 marks

r=1cm @ S-marks

ii) If we appro:nate 7 to 3.1, the volume of the cylinder = (3.1 X 1?) X 4 = 12.4
= the volume 7 the cylinder is more than 12. - It does add an extra volume.
Any correct equivalent argument 5 marks
Total for (f): 10 marks

A Total for Question 6: 150 marks
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E(i} Gpmaru aawGewi, NaOH, monosw aasiGenn, BOUGUT L sei

(Gpran Gyl clelssr WEe Breil claLsebe WG Y apkies)

_ _ (05 x 2 = 10 yehreMmeir)
(i) Safsfiar [/ HeflsGrmed
. : (05 yefrafiameir)
(iii) ubs alaGuige: IBTeT almaama oaTE BreNLTas 2_puss elestGuT eI
(05 yeweflmer)
AUTHs0 QupABsEss. / o puidl LT aLE (DuDD)
Qamesn. g
(05 yeirefaseir)

sfalGuTmear: CHMAWDDE SiO0E BesUUL Gsusinu p_Hushd
(05 yeirefaseir)
Ced ULSTUTLSIL 2 LS DI  QuirgmeTsLl
Guproremopma. [ Gres w8

(05 yeirefassir)
(V) saissTwTEss)/ s1és0 Bopaydpeos o DHIUGSHNHHE
S50805)
Cosvgd=wramen NaOH (apso) mé @emstensd /| 2 wi pH gueig wellg
Caprema(sFr5m5) GFBHINTSGLD. ;
(10 yewefaser)
i) (Tt as Busbyset, HemenuliGersded Guisoyssi, BnEpsnLwemsy
(v) (@prag oo=ih diaLssl. wps Bl oloLs@mss wLEL Yl apbgs)
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(i) NaCl, NaOH
(pged Byen( oo s@E@ WLEH el aupmies) .-
oY) SigEnng (05 x 2 = 10 ysireflselr)
(i)  pH (Guguorend), 2_suigsmeno, &L gsidHne, TDS (Total Dissolved Solids) &myhs [Hleneo -
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(i) @ = wg + at Sy HuiGwBungl
~/
v

05 yefreflmeir)
w,=0+15rads?x60s
05 yehemeir)
@, = 90rads™!
04 + 01 yehreMmeir)

(i) viguier GpiGsT (e &H (V) =rw @oar Asulsg dyHuiGuBurg
\9 05 yereflseir)
v=0.05m x90rads™!

05 yefrerfiseir)
v=45ms~!

04 + 01 yeireMamsir)
(ili) 60GFEsailed ulyuils BETCETLHS sHwraig uliguls seTELRSMID WIDTE)

45ms™ = 020m X 0 (BHiGs1I GE s =r0 @oa Basilés) m
®

0SAeTREA
45ms™? :
== -1
[0} 020m 225rads A
04 + 01 yeefiseir)
LomHEuesn:_ =

sul A CriGar (s &8 = sild B CpiGar (e &8
r(A)w =r(Biw @l LWSTLGSS (Wigud

H\ m45qa'mﬂadr) \

9 () 10Nm
09 + 01 ysirsMameir)
) () wf =wf+ 200 spemd dpse GyHul
’\_d_—) 05 yeireaeir)
@ =0, w;=20rads™!
© ®= 15 x Zn = 30w radian (3)
05 marks
®=20°-2ax 30n@
05 yeirefaseir)
Garem SIi(PHEH a = % = 6.6§trad s~2 (2.11 rad s~2) or 2.22 rad s~2
® 04 + 01 yeireiaeir)
)(iii) T = la GengdHseu ydHulGuGurs
05 yeirsiilmeir)

400
1= 0.15kgm? x o rad s 2 = 0.15 kg m? x 2.22 rad s 2
SyHuled 10 yereleseir)
1
T=ENm or 0.33Nm or 0.32Nm

B 04 + 01 yerefaseir)
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upFeTpiiemsd 2 MiehiulL Geaulusssd = mCAO
© &) 05 ysitefaseir)
= pVCAB =
= 11kgL™! x10L X 4000 Jkg=1°C~1 x (50 — 25)°C
Haflnous saiippe Sldag BTGB 05 YeTsiassi)
©, yBui_ed 05 eireMassir)
=1,100,000J OR 1,100KJ OR1.1M) —(&)
04 + 01 yeireseir)
UL en e KEwi
R= Uy auLSHNG IyGuinelsEwnurs )
05 ysitefeeir)
0.08Qcm™1 x 900cm— 1.5 % 1
e
[ I'_‘——-—j iSOG 05 Leh _--';._‘.
® Sy £ 05 yeheRaei)
2r=0.488 mm/0.43mmOR 4.9 10" m
), (04+ 0 ¢ ysirefaeir)
Bk V2 .
P HEIDE Ul SEADIEELT: Y @
' (05 usirefaseir)
h 230V
T 0.08Qcm ! X 200 cm @
(05 ysitsiassir)

P = 2204 W or 2.204 kW

G

\ 04 + 01 yeireflaeir)
| Part C = 55 yereiaen)
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(a)
() wrps Geevey =Rs, ((48 x 165) + 1770)
-\E b (05 yeireflmeir)
= Rs. 9690.00
(04+01 yeirefMameir)
(i) mesyum L Beeogsst =3 kW x0.5h x 30
= X (10 yehefaeir)
= 45 kWh
(04 + 01 yenrefimseir)
AT 9 ©
(i) mCAB=3x10%]s™! x 30x60s —
(05 yeirefasir)
1kg L™ X 30 L x 4200 | kg~°C~ x (6 —25)°C=3x10%Js™! x 30 x60s
1@ IS (05 yeirefiaseir)
8 = 67.86°C
=2 (04 + 01 yeireassir)

3 u@ﬁ A= 40 yeirefiae) |
b)
B 0] Gwmmmmm sy (12

Wwsip slaLsmse WLGD ysieh apr@s (10yerhza 2 =20 [erefEear)
(i) sFoy
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. i, | ued C = 35 yeirefiaein) |
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= =90W @ © &), it i
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Q (i) Boie aupwsiu L Gaiussag=90Wx4h (o)
(10 yeireaseir)
-0.360KkWh  (5)
(05 yeirefaseir)
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